RAREHE TECHNICAL SPECIFICATIONS Ie1

T " W EE R B BE -
WE - w wm B e Wi Bamn P RRERakE mm  COnE  EE

Output IEC Rated Full Efficiency Full-load Locked Locked Break Rated Moment Weight

Frame speed load n % Power Rotor Rotor Down torque of
current % of full load factor inertia (kg)
In(A) o ot Current Torque Torque N-m J(kgm?)

(rpm) 400V 100 75 50 Is/In. Ms/Mn  Mi/Mn

M SSERIES (1e1)

R =raEtrER R RN R FI

2-POLE/3000RPM

0.09 56 2710 0.37 50.0* 49.7 45.0 0.70 4.0 1.8 2.0 0.32 - 3.2
THREE PHASE STANDARD EFFICIENCY 0.12 56 2710 0.45 55.0* 56.2 53.2 0.70 4.0 1.8 2.0 0.42 - 3.4
0.18 63 2720 0.55 65.0* 64.5 59.6 0.73 5.5 2.2 200 0.63 - 3.9
ALUMINUM INDUCTION MOTORS
0.25 63 2720 0.72 66.0* 65.6 61.4 0.76 5.5 2.2 2.2 0.88 - 4.4
0.33 63 2720 0.84 70.0* 70.3 67.1 0.81 6.1 2.7 97 1.30 = 4.7
0.37 71 2760 0.94 70.0* 70.9 68.9  0.81 6.1 2.2 2.2 1.28 0.0005 6.2
0.55 74 2820 1.33 73.0* 73.9 71.9 0.82 6.1 2.2 2.3 1.86  0.00063 6.3
MSERFI = MRAmiE B R B e, RFIEIRARIELIRE | ZERTIRIE 0.75 71 2820  1.78 740 742 714 082 6.1 22 23 254 000076 65
IECIRE,
it 0.75 80 2845 1.76  74.0 742 71.4 0.83 6.1 2.4 2.5 2.52  0.00083 8.3
WONDER*&;&E*@E&%E}J*{L%’& 1.1 80 2840 2.49 76.0 76.8 75.3 0.84 7.0 2.5 2.5 3.7 0.0010 9.0
SR AT EBEMA T AR , KSR KGE |, BREN , A, & 1.5 80 2840 335 77.0 781 76.6 0.84 7.0 2.5 2.5 5.04 0.0012  10.0
I, a8 KEMERETI. 1.5 90S 2840 3.30 78.0 78.7 76.7 0.84 7.0 2.7 2.8 5.04 0.0012 12.5
- IPSSERIRSER | FRIBLR | BRURFT | S1TAFH, 2.2 90L 2840 467 80.0 80.8 79.5 0.85 7.0 25 2.8 7.4 0.0014  14.0
 MEERE400V, SUEAEESOHz, 3.0 90LB 2840 6.22 81.0 81.4 79.4 0.86 7.0 2.5 2.8  10.09 0.00145 16.0
- (EFEM  IRBIRE-20°C-40°C |, 81k <1000, : : : : : : : : : : : :
- 3KWR LA TFEEHAYIER S , 4akWR LLE LA 2 TS =, 3.0 100L 2870 6.07 82.0 82.1 80.3 0.87 7.5 2.7 2.5 9.98 0.0029  20.5
- REBXRICAL, 4.0 100LC 2880 7.81 84.0 84.8 84.1 0.88 7.5 2.3 2.5 13.26  0.0039  28.0
4.0 112M 2880 7.81 84.0 84.8 84.1 0.88 7.5 2.3 2.3 13.26 0.0050  26.0
5.5 112MC 2900 10.6 85.0 85.0 83.5 0.88 7.5 2.3 2.3 18.17  0.0069  33.0
T2, MOUNTING ARRANGEMENTS 5.5 132SA 2910 10.6  85.0 85.0 83.5 0.88 7.5 2.2 25 1811  0.0104  40.0
Types Basictype e 7.5 132SB 2905 14.3 86.3 86.6 85.6 0.88 7.5 2.2 2.4 2466 0.0121 44.0
@) @) ]
o ve e ee mer e 11 132MC 2910 20.3 87.8 87.4 859 0.89 7.5 2.2 2.4 36.10 0.0178  65.0
IM 1001 IM1011 IM_1031 IM1051 IM1061 IM 1071 4-POLE/1500RPM
MS56-132 :D :ED @: U:H: 0.06 56 1330  0.34 46.0° 42.0 355 055 4.0 1.4 20 043 : 3.2
0.09 56 1330 0.41 50.0* 49.2 43.0 0.63 4.0 1.8 2.0 0.65 5 3.4
MB35 IMVIS  IMV36 * * * 0.12 63 1340 0.42 57.0* 57.1 526 0.72 4.4 1.8 2.0 0.86 = 4.0
IM2001 IM2011 IM 2031 IM 2051 IM 2061 IM 2071
— 0.18 63 1340 0.61 58.0* 59.5 56.4 0.73 4.4 1.8 2.0 1.28 - 4.5
_ :IE] i’ é EIEB @: U:H: 0.22 63 1340 0.75 58.0* 58.4 54.7 0.73 4.4 1.8 2.0 1.57 . 4.9
0.25 71 1345 0.75 65.0* 65.1 61.3 0.74 5.2 2.1 29 1.78 0.0011 6.1
IM B34 : : : : : 0.37 71 1340 1.06 67.0* 68.2 65.7 0.75 5.2 2.4 2.2 2.64 0.0012 6.7
IM 2101 IM 2111 IM 2131 IM 2151 IM 2161 IM 2171
—— 0.55 71 1390 1.49 71.0* 72.4 70.6 0.75 5.3 2.2 2.5 3.78 0.0016 8.2
:”:D :[[ED @]:' Uj]z 0.55 80 1390 149 71.0* 72.4 70.6 0.75 5.3 2.2 2.5 3.78 0.0013 8.9
0.75 80 1380 1.96 726 73.3 71.2 0.76 5.3 2.3 2.5 5.19 0.0015 9.6
IM BS IMV1 IM V6
¥ S0 1 S0 T%EsE 1.1 80 1390 2.76 75.7 77.3 76.1 0.76 6.0 2.3 2.5 7.56 0.0019  12.2
MS56-132 1.1 90S 1390 272 757 77.3 76.1  0.77 6.0 2.3 2.5 7.56 0.002 12.5
:ED 1.5 90L 1390 356 78.0 79.4 783 0.78 6.0 2.5 2.5  10.31 0.003 15.0
2.2 90LB 1415 484 80.0 80.8 79.5 0.82 7.0 2.3 2.5 14.85 0.0039 19.5
IMB14 IMV18 IMV19
IM 3601 IM3611  IM3631 252 100LA 1415 4.90 80.0 80.8 79.5 0.81 7.0 2.3 2,5 14.85 0.0054 19.2 o
MS56-132 :D 3.0 100LB 1415 6.44 82.0 826 81.1 0.82 7.0 2.3 2.5 20.25 0.0067 23.0
4.0 100LC 1430 829 839 84.6 83.5 0.83 7.0 2.3 2.5 26.71 0.0069 25.9
4.0 112M 1440 829 839 84.6 83.5 0.83 7.0 2.3 2.5 26.71 0.0091 29.0
BEAZER s ERTREINIRENZES . 5.5 112MC 1445 11.3 85.0 856 84.6 0.83 7.0 2.3 2.5 36.35 0.0117 37.5
1)/ (M)&dER  [EC60034-7THFKREFEN. 5.5 132S 1445 11.3 85.0 85.6 84.6 0.83 7.0 2.3 2.5 36.35 0.0205 43.5
2)BXIMV6,IMB6,IMB8ZLZT55, , IRIMIAREHIA, 7.5 132M 1445 14.9 86.4 87.0 86.3 0.84 7.0 2.2 25 4957 0.0296 53.5
11.0 132MC 1460 21.5 87.9 87.9 86.6 0.84 7.0 2.2 2.3 71.95 0.0326 75.6

L ESUEERHRRE Y , REERIE60034-2-1 1 2007EEARWLHE
WONDER



R AREUIE TECHNICAL SPECIFICATIONS Ie1 HMELZEERTE MOUNTING AND OVERALL DIMENSIONS

oz s AE e s AT i AR A KR BE e m e ==
WE- A ww LM M WAk BEmRBEREAERE #n CoORE  ER
Output IEC Rated Full Efficiency Full-load Locked Locked Break Rated Moment Weight |.—+Y
Frame speed Ioadt n % ?ov%/er Rotor Rotor Down torque . Oft' o B3 . 0T KK
cunien % of full load actor  cyrrent Torque Torque RS 9 N e ——— 1
I, (A N- J(kgm? @l®
(o) AoV 100 75 50 ¢ IsMn MyMe Mgmw o S0 o OO
6-POLE/L000RPM & j%/ .
. e = | .
0.09 63 860 0.46  48.0* 43.9 34.0 0.59 4.0 1.9 2 1.0 R 4.5 : “
Tlo T—1
0.12 63 860 0.57 51.5* 48.0 40.2 0.59 4.0 1.9 ) 1.33 - 5.6 |
El c [ B |
0.18 71 860 0.70 56.0* 55.9 50.5 0.66 4.0 1.9 2 2.0 0.0011 6.4 ‘ CoL '
0.25 71 860 0.90 59.0* 59.2 55.0 0.68 4.0 1.9 2 278 0.0012 65 "
B5 T )
0.37 80 885 123  62.0* 61.2 56.4 0.70 4.7 2.0 21 3.99 0.0016 8.5 F n KK
N - _
0.55 80 885 1,70  65.0* 65.2 61.8 0.72 4.7 2.0 24 5.94 0.002 9.2 /@} '©©‘l
< r —
&) s = —— (@)
0.75 90S 915 215 70.0 70.8 68.3 0.72 5.5 2.0 22 7.83 0.003 12.0 ’ T—_— I 9
2 —
1.1 9oL 915 298 729 73.8 71.6 0.73 5.5 2.0 22 11.48  0.004 14.0 D j
. U —
1.5 100L 920 3.82 755 76.8 751 0.75 5.5 2.1 22 1557 0.0069 19.5 == L
2.2 112M 935 533 784 79.3 77.8 0.76 6.5 2.2 2.2 2247  0.0071  28.0
X
.
3.0 1328 960 742 80.0 80.3 78.6 0.76 6.5 27 2.8 29.84 0.0274  38.0 B35 e —
F N | -
4.0 132MA 960 9.32 815 81.8 80.2 0.76 6.5 2.4 2.9 3979 0.0343  45.0 . I OO —
g O
N
5.5 132MB 960 12.4  83.3 84.0 83.1 0.77 6.5 2.4 2.8 54.71 0.0431 54.0 = %, —_— = | _. LY
%Y
I EEIERAEEY , MEEERIE60034-2-1 : 2007 FiEA RS N
D 1T i— v
ERNE B
L
8-POLE/750RPM
0.09 71 635 0.68 39.0* 35.9 29.3 0.49 2.9 1.8 2.0 1.35 s 6.5
0.12 71 635 0.74 48.0* 45.8 39.5 0.49 2.9 1.8 2.0 1.80 - 7.5
0.18 80 645 0.84 51.0* 50.5 44.7 61 2.9 1.8 2.0 267 0.0018 8.3 HLIE 5 LR AT 2NN
0.6 Frame Mounting dimensions(mm) Overall dimensions(mm)  XXYxZ(mm)
0.25 80 645 110 54.0* 53.9 48.4  0.61 2.9 1.8 20 37 00021 9.0 R A A S T E IR Rl S e S L
0.37 90S 670 141  62.0° 61.8 574  0.61 3.2 19 53 527 00030 12.0 56 90 22.5110 11096 71 369 M4x10 203 7.2 56 0+1.57 M18%1.5183 10080 1207 3 10.292x92x38
63 10026 12212299 80 40 11 M4X10 234 8.5 63 0+1.57 M18%1.521811595 1409 3 12.592x92x38
0.55 90L 670 2.07 63.0 63.3 59.2  0.61 3.2 2.0 23 7.84  0.0040 15.0
71 11226 13613810990 45 14M5%x12 305 11 71 0+1.57 M18x1.5251 130110 1609 3.516 103x103x38
0.75  100LA 680 242  66.7 66.5 622 0.67 4.7 1.8 2.2 10.46  0.0063  16.4 80 12530 154157 11210050 19 M6X16 406 15.580 0+1.5 10 M20X1.5286 165 130 200 12 3.521.5110x110x35.5
1.1 100LB 680 329 69.9 70.8 68.0 0.69 5.0 1.8 2.2 15.22  0.0097 21.8 90S 14034 174175120100 56 24 M8X19 508 20 90 0-+1.510M20x1.5320 165 130 200 12 3.527 110x110x35.5

66 15 112M 700 4.30 73.0 731 70.1 0.69 50 20 25 19.62 0.012 29.0 90L 14034 17417512012556 24 M8X19 508 20 90 0+1.510M20X1.5335165130200123.527 110x110x35.5 67

100L 16039 194 196 139140 63 28 M10X22608 24 1000+2.012M20X1.5377 215180250154 31 110x110x35.5
2.2 1328 710 5.88 76.1 76.3 73.9 0.71 6.0 1.8 25 29.59 0.029 39.0
112M 19039 224 220 156 140 70 28 M10X22608 24 112 0+2.0 12M20X1.5395215 180250154 31 144x144x44

(V]
3.0 132M 710 7.59 782 79.1 77.4 0.73 6.0 1.8 2.4 40.35 0.038 45.0 132S 21648 256 260 185140 89 38 M12X2880 1033 1320+2.0 12M25X1.5472 265230300154 41 144x144x44 >

132M 21648 256 260 185178 89 38 M12X2880 1033 1320+2.0 12M25X1.5510 265230 300 154 41 144x144x44

W R=0 S GlC 4 TH 20 B S R
R=0 distance from flange to shaft shoulder

LEHIRRABEN , SMEERRIBAS/NZS 1359.5.2004 ( MEPS2) BE#EANNHIAE




YN 23R ~TE MOUNTING AND OVERALL DIMENSIONS AN L% R E MOTOR SPARE PART LIST/DRAWING

22

B14 . X g 24
g ﬁ
e = i
rnOaI= ) < 63
3 — | . ©
[ e EE—e e R SR s=es 2
L&)
E e &;:»"}
i;éj
B34 v %
KK [
F N O] :
oAl | ) NS g
2 o0 10
S | I s ) S Sy B al | 14155 13.XH-RER
/ B /) 28R 14 ;i
o : £l 3R TEF 15X &
D
E:| i i I J I 4.$§¥ 16.&2%
E B WK AA 581 17 2R
L A 6 4 18. 5
7 S 19.H&IRE
8. 5= 20 ==
9.5&h8 21 giEEIEIRE
10.3pEER 22.B5iE=
1128 23.Bl4ix=
12. XM 24 3R aigey

HUE 5 23 R Arael RS

Frame Mounting dimensions(mm) Overall dimensions(mm) XxYxZ(mm)
size A AA AB AC AD B C D DH E F G H K L M N P S T GA

56 90 22.5110 110 96 71 369 M4x10 203 7.2 56 7 M18X1.518965 50 80 M5 3 10.292x92x38 L = e Ene e Gl e} S Oil Seal
Frame Bearings Bearings

63 10026 122 122 99 80 40 11 M4x10 234 85 63 7 M18x1.521875 60 90 M5 3 12.592x92x38 size

71 112 26 136 138 10990 45 14 M5X12 305 11 71 7 M18x1.525085 70 105 M6 3.5 16 103x103x38 56 6201 2RS/C3 6201 2RS/C3 $12X $22X5
80 12530 154 157 112 100 50 19 M6X16 40 6 15.580 10 M20Xx1.5278 10080 120 M6 3.5 21.5110x110x35.5 63 6201 2RS/C3 6201 2RS/C3 d12X $22X7
90S 14034 174 175120 100 56 24 M8X19 508 20 90 10 M20x1.5335 11595 140 M8 3.527 110x110x35.5 71 6202 2RS/C3 6202 2RS/C3 ¢ 15X $25X7
90L 14034 174 175 120 125 56 24 M8X19 50 8 20 90 10 M20x1.5335 115 95 140 M8 3.527 110x110x35.5 80 6204 2RS/C3 6204 2RS/C3 $20X $30X7
100L 16039 194 196 139 140 63 28 M10%X22 60 8 24 100 12 M20x1.5377 130 110 160 M8 4 31 110x110x35.5 90 6205 2RS/C3 6205 2RS/C3 $25X $37X7

68 112M 190 39 224 220 156 140 70 28 M10X22 60 8 24 112 12 M20%X1.5395 130 110 160 M8 4 31 144x144x44 100 6206 2RS/C3 6206 2RS/C3 d30X b42X7 69

132S 21648 256 260 185 140 89 38 M12x28 80 10 33 132 12 M25X1.5472 165 130 200 M10 4 41 144x144x44 112 6206 2RS/C3 6206 2RS/C3 d30X 42X7
132M 216 48 256 260 185 178 89 38 M12Xx28 80 10 33 132 12 M25X1.5510 165 130 200 M10 4 41 144x144x44 132 6208 2RS/C3 6208 2RS/C3 b40X $58X8

e R=0 J9 o S C A T 20 5 B R .
R=0 distance from flange to shaft shoulder




